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Question 1. (8 marks) Solve the following system using Gauss-Jordan elimination:
2x9 4+ 4x3 + 6x4 — Sx5 = -3
2x1 4+ dxp + 1dxs — 2xs = 12
3x1 4+ 6xp + 2lx3 — fgxy — 6x5 = —6
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Question 2. (10 marks) Given:.
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Computé the following if possible. ‘ | o~ %
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Question 3. (8 marks)
(a) Find A~ if possible given:
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(b) Use (a) to solve the following system:

2 + 6 + 6x3 = ‘
2 o+ T o+ 6 o= 1 QAN % wEiTroo As AX = b
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Question 4. Given:
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(a) (I mark) Put A in reduced row echelon form.
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(b) (3 marks) Find elementary matrices E1, F,..., E, such that E,,...ErE1A =1
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(d) (3 marks) Write A as a product of elementary matrices. Find these matrices.
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Question 5. (3 marks) Find A~1 if A¥~ 24 +1=0.
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Question 7. (5 marks) Find numbers a, b, ¢ such that the foliowing matrix is symmetric:
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Question 8. (7 marks) Consider the following system

x1 ; + (6\-\’1)363 = 0
2%, = 2
(a—2)x; + 2% = a

where a 9’5;: a real number . If possible find value(s) of a so that the system has
(a) a unique solution '
(b) infinitely many solutions

(c) no solutions
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- Bonus. (3 marks) A matrix A is called skew-symmetric if AT = —A. Determine whether or not the
matrix A = [aij:lnxn whose ij-entry is a;; = i —2i+2j— j* is skew symmetric.
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